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Puzzle Test for IBPS Clerk Pre, SBI Clerk Pre, LIC Assistant Pre and 
IBPS RRB Assistant Pre Exams. 
 
PT Set No 204 
 

Directions: Read the following information carefully and answer the questions given beside. 
 

8 persons from P to W passed school on same date and month of different years viz. 1992, 
1995, 1996, 1999, 2001, 2003, 2006 and 2010. U passed school just before P, who did not pass 
in an even numbered year. Three persons passed school between U and S. W passed school in 
either 1996 or 2001. T passed before two persons. V passed 7 years before P. Q passes before 
R. 
 
 

1. Find the odd one out?  

A. V   B. U   C. S   D. R   E. Q 
 
2. Who passed school immediately after T? 

A. Q   B. R   C. S   D. Can't be determined       E. None of these 
 
3. Who was the first one to pass the school? 

A. P   B. V   C. U   D. Q   E. EIther P or V 
 
4. How many persons passed after W? 

A. 2   B. 5   C. 3   D. 4   E. None of these 
 
5.  Who passed 7 years before T? 

A. U   B. P   C. Q   D. V             E. Can't be determined 
 
 
 
 
 
Correct Answers: 

1 2 3 4 5 
E C B C A 

 
 
Common explanations : 



 
 
Reference: 
V passed 7 years before P. 
T passed before two persons. 
U passed school just before P, who did not pass in an even numbered year. 
 
Inference: 
As per second hint, T passed in year 2003. 
 
The only possibility which suits first and third hint simultaneously is when V passed in 1992 and P passed in 
1999. 
 

Years Persons 
1992 V 
1995   
1996 U 
1999 P 
2001   
2003 T 
2006   
2010   

  
Reference: 
Three persons passed school between U and S. 
W passed school in either 1996 or 2001. 
Q passes before R. 
 
Inference: 
As U passes in 1996, so W must pass in 2001. 
 

Years Persons 
1992 V 
1995 Q 
1996 U 
1999 P 
2001 W 
2003 T 
2006 S 
2010 R 
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1.   Following the common explanation, we have 
 

Q passed in an odd numbered year unlike others, thus the odd one out. 
 
Hence option E is correct. 

 
 
2. Following the common explanation, we have 
 

S passed immediately after T. 
 
Hence option C is correct. 

 
 
3. Following the common explanation, we can say that 
 

V was the first one to pass the school. 
 
Hence option B is correct. 

 
 
4.   Following the common explanation, we have 
 

3 persons passed after W. 
 
Hence option C is correct. 

 
 
5. Following the common explanation, we have 
 

2 persons contributed more than Q. 
 
Hence option C is correct. 
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